Practice - Chapter 1
AP Statistics

Name 
KEY



Multiple Choice: 

1. D

2. E

3. C

4. E
5. B

6. B

7. B

8. E

9. C

10. A
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The distributions of male and female temperatures are both roughly symmetric.


The mean temperature of males is 98.1 degrees F which is lower than the mean temperature for females, 98.4 degrees F.


The standard deviation of the male temperatures is 0.70 degrees F which is slightly lower than the standard deviation for female temperatures, 0.75degrees F.


There are male temperatures that are outliers while there are two female outliers, one low one--96.4 degrees F and one high one--100.8 degrees F.








The distribution of calculus test scores is slightly skewed right.


The median test score is 67.


The IQR of test scores is 13 points (74-61)





Since the distribution of test scores is skewed and contains outliers, the mean and standard deviation are not appropriate measures.  Neither measure is resistant to extreme values.  The median and IQR would be better to describe the center and spread of the distribution of test scores.









